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- N 175- maTuEMATICS (71) - GEOMETRY—PART Il (E)

Seat No.

2020 XI 28 1030

Time : 2 Hours (Pages 10) Max. Marks : 40

Note —

(@) All questions are compulsory.

@) Use of. calculator is not allowed.

() The numbers to the right of the questions indicate full marks. )

) In case of MCQ’s [Q. No. 1(A)] only the first attempt will be evaluated
.and will be given credit.

(v)

For ‘every MCQ, the correct alternative (A), -(B), (C) or (D) with

sub-question number is to be written as an answer.
(vi) Draw proper figures for answers wherever necessary.
(vit) The marks of construction should be clear. Do not erase them.

(viir) Diagram is essential for writing the proof of the theorem,

1L (A) For each of the following sub-question four alternative answers

are given. Choose the correct alternative and write its

alphabet : 4
(1) A ABC ~ A PQR and ZA = 45°, ZQ = 87°, then £C = ..........
(A). 45° (B) 87°
(C) 48 - D) 90°
P.T.O.
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(2)  ZPRQ is inscribed in the arc PRQ of a circle with centre ‘Q’,
If /PRQ = 75°, then m(arc PRQ) = ..oovon.
(A) 75° (B) 150°
(C) 285° D) 210°
(3) A line makes an angle of 60° with the positive direction of
X-axis, so the slope of a line is .............
1 V3
(A) B (B) 2
1
© 3 ® 3
(4)  Radius of a sector of a circle is 5 e¢cm and length of arc is
10 cm, then the area of a sector is ...............
(A) 50 cm? (B) 25 cm?
(C) 25 m? (D) 10 cm?
Solve the following sub-questions : 4
A
(D
B4 C
D

In the above figure, seg AB L seg BC and seg DC L seg BC.

A(AABC)

IfAB =3 cmand CD = 4 cm, then find A(ADCB)
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(2)  In eyclic (] ABCD, /B = 75°, then find ZD.

]
(3 Point A, B, C are collinear. If slope of line AB is - L then find
the slope of line BC,

(4)  If 3 sin 0 = 4 cos 0, then find the value of tan 0.

Complete the following activities and rewrite it (any {wo) : 4

A

(1)

B C |
In A ABC, seg DE || side BC. If AD = 6 cm, DB = 9 cm,
EC = 7.5 cm, then complete the following activity to

find AE.
Activity : In A ABC, seg DE || side BC ..... (given)
AD _ AE
DB - EC T
6_ A
o
AE = 6x75
AE =

P.T.O.
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In the above figure, chord AB and chord CI) intersect ¢ach other
at point B, If AE = 16, EB = 6, CE = 12, then complete the
activity to find ED,

Activity :

Chord AB and chord CD intersect each ot}'mr

x ED = 15 x 6

ED = =—
12

ED =

4
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@)  IfC(3, 5) and D(-2,

-3), then cbrnplete the following activity to
find the distance between points C and D.

Activity ;
Let €3, 5) = (x}, y,), D(-2, -3) = (x,, y9)
CD = [ty -[ ]2+ (-3 ..... formula)
CD= [(-2-[ ]?+(3 -5
CD = \/ + 64
CD = J
(B)  Solve the following sub-questions (Any four) : 8
(1) A ABC ~ A PQR, A(A ABC) = 81 cm?, A(A PQR) = 121 cm?.
If BC = 6.3 cm, then find QR.

(2) - In A PQR, £ZP = 60° £Q = 90° and QR = 6+/3 cm, then find

the values. of PR and PQ.

(3)  Find the slope of a line passing through the points A(2, 5) and
B(4’ _1).

(4) Draw a circle with centfe ‘0’ and radius 3.2 cm. Draw a tangent

to the circle at any point P on it.

(5)  Find the surface area of a sphere of radius 7 cm.

P.T.O.
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3. (A) Complete the following activities and rewrite it (Any one) 3

(1) K

Q —-I R

S

In A PQR, seg PS 1 side QR, then complete the activity to prove
PQ* + RS% = PR2 + QS2.
Activity :

In A PSQ, £PSQ = 90°

PS2 + QS2 = PQ? ... (Pythagoras theorem)
PS2=PQ2 - | . ... (I
Similarly,

In A PSR, £PSR = 90°

PS? + = PR? - (Pythagoras theorem)

PS2=PRZ-| | ... (ID)
PQ? - = - RS% ... from (I) and (II)
L PR+ = PR? + QS?

e
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(2)  Measure of arc of a circle is 36° and its length is 176 cm. Then

complote the following activity to find the radius of circle.
Activity :
Here, measure of arc = 0 = 36°

Length of arc = [ = 176 cm

Length of arc (I) = =X | ... (formula)

176 =

Radius of circle (r) = cm

(B) Solve the following sub-questions (Any two) : 6

(1)  Prove that, “The ratio of the intercepts made on a transversal
by three parallel lines is equal to the ratio of the corresponding
intercepts made on any other transversal by the same parallel -

lines.”

P.T.O.
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(2)  Draw a circle with centre ‘O’ and radius 3.4 cm. Draw a chord
MN of length 5.7 cm in it. Construct tangents at points M and

N to the circle.

(8)  Prove that :

1

sec-tan 0

=sec 0+ tan 0

(4)  Radii of the top and base of frustum are 14 cm and 8 cm

respectively. Its height is 8 cm. Find its curved surface area.

(m = 3.14)
4. Solve the following sub-questions (Any fwo) : 8
A
(1),
B
B P D C

, In A ABC, ZBAC = 90°, seg AP 1 side BC, B-P-C. Point D is the

mid-point of side BC, then prove that 2AD? = BD2 + CD2

———— e e
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3)

In the ahove figure, chord AB = chgrd AD. Chord AC §nd chord BD
intersec{: each other- at §oint E. Then prove that :

AB? = AE x AC.
A straight road leads ‘to the foot of the tower of height 48 m. From
the top of the tower the angles of depression of two cars standing on

the road are 30° and 60° respectively. Find the distance between the

two cars.

3 =1.73)

PT.O
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Holvi (hye Followling subquestions (Any one) s 2

()

)

bk M b ot of contact of bu internally touching circles. 1et line
AMB b Ehaly sommon Langant, 'The chord CI of the bigger circle touches
Uhe amnllor cleele ol polnt N, ‘The chord CM and chord M of bigger
ohrele intersocl the smuller cirele st puint P and R respectively.

(t1) Mrom the above information draw the suitable figure.

(h)  Draw seg NIR and seg NM and write the two pairs of congruent

angles In smaller circle considering tangent and chord.

W

(¢) By using the property which is used in (b) write the two pairs

of congruont angles in the bigger circle.

Draw a circle with centre ‘O’ and radius 3 cm. Draw a tangent segment

PA having length /40 cm from an exterior point P.
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(i) W yyq drgan avaE G
(i) -TOrRTHE AR R AME AL
(@Gi) WeAren Ieehe faeen "en yu g,

(iv) W agYEr WA S (WY F. 1(A)] YEIHIT Hae WAH YA
g Rl 4 ho Wd 9 o T @ s,

(v) wgEEE g W fafedr swww wAiE fogd @ A% T
Fuiar (A), (B), (C) fhan (D) ferera.

(vi) 3TEYIF 1 fohmft IR ehdl FermE.
* (vii) TEASN WA GO WR FHEA. A 9Y T
(iii) Tt fagua fafevamdt sdl smavas ot

L A g@vﬁmmwmmﬁvﬁm mrﬁa?rmm
ﬁagsr?m‘favﬁmm 4

(1) A ABC ~ A PQR &0l ZA = 45°, £Q = 87°, ®W £C = ..........
(A)  45° (B) 87°

(C) 48° D) 90°

B0,
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(2) ®% ‘O IO FIEn HA PRQ WA LPRQ siaférfer wen
3. T mPRQ = 756°, T m(Hd PRQ) = e
(4)  75° B)  160°
0 et | (D) 210°

() T W X-aarom W e 600 @ HNA den sy, q Al WAl

1 3
(A) 5 (B) <>
© 3 m 7z '
@) ot frear 5 ¥ emA frem adewurd @i 10 A
317%, ™ W W ..............
(A) 50 DA  (B) 25 w3
(C) 25 = (D) 10 =&+
el 399y qrear - | 4
A Y
(1) ‘
pd e
gl 3MFdd, 3@ AB L Y@ BC 31f1 @ DC 1 Y@ BC. W
A(AABC)
AB = 3 -é]ﬁ, D = - =
CD = 4 ¥, W A(ADCB)

—
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@) =% d@H ABCD W43, 4}3:750’3'{4]):‘[’3,3’[ ?

3) A,Bac%ﬁimmﬁmi@wm%-lm_

2
W W@ BC =1 93 f&dar ?
4) X 3sin 0 =4cos 0 W tan 0 It FFEAT FTaL.

2. (A) W et YUl wEA T fom (wowd @) 4
A

(1)

Lo

A ABC W¥4, 1@ DE || 915 BC. SR AD = 6 §Hl, DB = 9 4,
EC = 7.5 ¥, W AE =t foudq wevamel @mwie $dl o
<l :

Fdt : A ABC WH, W@ DE || 99 BC (K& 1)

----------

P.T.O.
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(2)

aﬂﬂa@ﬁqﬁ,vﬁmmasﬁmcumﬁmﬁgﬁnwm-
WAE=15,E3=6,CE=12,'HIED%ﬁﬁh—'qﬂm@rﬁm
Tl ol .
e .

GﬂaTABax‘rﬁaTCDQEFﬁﬁmEﬁ@@aam. (R am)

CE x ED = AE x EB ... '

x ED =15 x 6

ED = ==

ED =
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3) SR C(3,5) Ul D(-2, -3), W C g D a1 oF fagHee R Heuarrdt
el Fel g B
?ﬁﬁ' : |
qEst O3, 5) = (x), yp), D=2, -3) = (xg, Yo)

CD = gy - [P+ (- (3T D)

D= 2= _]*+(-3-57

—_—

CD=\/ + 64

—

CD =

B) el IU-Yy Gisar (FivTdat =) : | 8

(1) A ABC - A PQR, A(A ABC) = 81 .8, A(A PQR) = 121 S a9
R BC = .6.3' dl, W QR @l

(2) 'A PQR r@, 4? - 60°, £Q = 90° 3nftn QR=643 FHl, W
PR d PQ = fHmdl i@l

3) A, 5) @ B(4, -1) fogmym s W 9% we.

@ F5 o e 32 AW B 9dw w@. SgEe BEE P
fagay ageren Wi el

() Tl e e 7 3 old, W @ M aRyehs Fial.

P.T.O.
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P

(1)

A PQR W¥1, 1@ PS | a9 QR T PQ? + RS2 = PR? + QS2 figy

?ﬁ? i

A PSQ W&, /PSQ = 90°

PS2 + QS2 = PQ2 ... (TIATTRES 7))

PSZ=PQ2 - | | ... 1))
GEES

A PSR T, /PSR = 90°

PS? + =PR? ... (IEYrIRES ﬁq)

PSZ=PRZ-[ ... an
PQ? - = - RSZ ... . () 9 (1) a8
PQ2 + [ = PRZ + Qs?
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(2) Wmmm'awmmma@waﬁ Ale.
W A g B Fewme acta Fa 9o w0

W:
49 Tgohdra W0 = 0 = 36°
aesharet el (7)) = 176 GHI
: . i 0
adaaw‘aﬁrwa’r(lh% .......... (F7)
= —B—GLXZX'2—2X"
360 7
1 44
176= x7xr
_ 176 x
B 44
r = x 70
E@Eﬁﬁﬁ’ﬂ(r)= ﬂtﬁ
B) Tl IqUYT drear (Hivd g | | 6

@) faed U0 IR Y T SR See R T
e i e S R S SR TR
m‘n )

P.T.O.
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(@) 30 3R 3.4 IR B TGD Frel @ 5.7 I A

ST MN #re. fig M 9 fig N WA oo wWiiE @@
®) fwgy wu .

1

m=secﬂ+tan0.

(4) WWWWWMWWBWW-G{T

YRR I 8 A Y, T WM THYSFHS Hal.

(m = 3.14)
TSl IU99T Wisar (SHomg g ) 8
A
(1)
B A ¢

A ABC ¥, /BAC = 90°, 1@ AP L 9 BC, (B-P-C). fig D @ @

BC <1 WeAfsg &R, W faqy &0 2AD2 = BD? + CD2.

Scanned by CamScanner



o

@)

aﬂaaﬂfﬁﬁﬁ,ﬁ\mms?ﬁmw.sﬁmmasﬁmmmﬁq
E #¥l ¥cad. W fagy &1 ¢
AB2=AExAc.

(3) @wmmwmmwm@w

48 . TR A aE AHUH Herried a HERiSS 9ed
2R ETd FH FTHER 30° T 60° IR, W W HRHINHI HWR

fopdt ? ‘ 3 =1.73)

-P.T.O.
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5. Weitet 3ITYYA Wisal (R TH) 3
0 fag M @ A i ader weifeg omR. M AMB @ i wmH®
wf¥fr R, Hem af@t e D @ wem adera fag N 9w

A i diew adere Ste CM & a1l DM oM ada orER
faig P @ R 74 o=am.

(@) d #fedren TR drg s @@

(b) Y@ NR 9 W@ NM #ea o w@iis 9 s fan w61
(c) aﬁamq(b)w}mwgwmwmnmaﬂama
THEY HAr AW e foa.

(if) ‘O'ﬁwhsﬁn%ﬁmaﬁama‘g‘mﬁﬂﬂpﬁ@ m‘ﬁq’taﬁm
W@ PA T Witifwws wm@.
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